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Note: 1] Q -1 is compulsory

2] Q -2 to Q -5 with internal choice

3] Figures at rlght indicates full marks for questmn;:t‘x

4] Use of standard calculator is pcnmtted

5] Working notes should form part»of‘yaur ansters" = St s
Q- 1 A] State whether the followmg StatEment is True / FaISe (Any 08) B '8 (08)

1. Prime cost includes factory ovsrheads &

2. Stock levels are fixed up for mventory oontrol ;

3. Dearness allowance is linked with cost of living index. -

4. Piece rate method pays the workers: by results, % )

5. Selling and distribution overheads are same as admmlstratwc overheads
6. Linking overheads to cost unit is known as overhead absorption.

7. Stores Ledger shows: movement of materials showing quantity and value
8. In no case, material should go below minimum level.

9. Power is allocated on the basis of H.P: of machines.

10. Employee welfare | expenses are: allocated on the basis of labour hours.

B] Select correct alternatwe and rewnté the sentence (Any 07) (07)
1. Labour hour rate is followed when most of the work is done by

a) labour b) maohmes “e) dlﬁ‘erent groups of machines
2. Clock Card is placed at : :

- a) The entranceé of the office b) the entrance of the factory c) the entrance of the stores
3. Stores Depanment mamtams arecord in which a separate folio is maintained for each item

a) Stores Ledger -+ b) Bin Card = ¢) Stock Register
4. When allocating service department costs to production departments, the method that does not
consider different cost behaviour pattern is the

a) step method b) reciprocal method c) simple rate method d) dual rate method
5. A common absorpttcm rate used throughout the following for all jobs and units of output
irrespective of the department in'which they were produced is called

a) machine hour rate b) department absorption rate c) overall absorption rate

d) blanket absorption rate
6. The process by which cost items are charged direct to a cost unit is called

a) absorption . b) apportionment c) allocation  d) allotment
7. Goods received note is normally prepared in

a) Six copies -'b) five copies ¢) four copies
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Q.Pp. Code:-2
8. Material control includes R R
a) inventory control b) control over labour ¢) control over 'OVErhea_ds e
9. The method of remuneration to give stability of labour cost of the.employers is
a) straight piece work b) premium bonus ¢) measured day work
10. Casual workers are employed when 0 RS AT Dy D
a) Workers are absent b) accident takes place’* 4% as); there ﬁ;]ééhine':bl‘eakdowg
Q -2 The following are the receipts and issues of coal._f’i'f_iiaj‘_f&b_ti?‘iry_"dilriﬂg March 2017: (15

March 1 Opening stock 2000 tons at Rs. 46 per toft, 0 S
4 Issued 1400 tons

6 Purchased 3500 tons at Rs. 45 per ton. - S B S '
8 Return due to damage condition purchased on 6" March 300 tones. _
9 Issued 800 tons P AT F gk .

14 Issued 2100 tons AR R SOOI
17 Purchased 2000 tons at RS, ABPEr font .0 2
20 Issued 1200 tons 5,37 &0y RS DR,
25 Purchased 1800 tons at Rs. 47 pegton. NS S,

28 Iasiied 2800 tomb 6 0T Nt SIS S e’

31 Excess found in'stock 430 tons due to Wrong weighing duting the month

The maximum level fixed:is 4000 tonsy the minifhum"750zptqns" and the reorder level is 1000 tons.
Show the Stores LedgerAccount utrder FIF O system and weighted average method

S

SR WY iy,
20 P

Q-2 A. Two comporients ‘A’ and ‘B are used. in Mahindra = Industries as follows: (08)
Normal Usage: 07500 o0 s Shs 300-units per week each
Minimum Usage <./ 500000 150 units per week each
Maximum Usage -~ t 450 units per'week each

A 1800 units..

RS N et D 3000 units.

Re 2 0fdet Pertog® @80 o5 &0 677 - 4 to 6 weeks
s AT R N0 R 2104 weeks

Re — order Quanti'ty" o,

Calculate for eaq'h'\COﬁlpfl)néntf e
L. Re-orderLevel -
2. Mininmum Level
3. Maximum Level A
4. Average Stock Level

B] Determine the EOQ from the following particulars: (07)
- Annual Consl'linp'tio_n D ¢ 2,025units
~Cost of material SR : Rs. 60 per unit
Cost of placing an order: . " g ; Rs. 36
Annual carrying cost of one unit : 10% of inventory value

Q=3 a] From the f.ll'owing particulars, work out earnings for the week of a worker under:(08)
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1. Straight Piece rate System 2. Differential Piece rate System
3. Halsey Premium System 4. Rowan System
Number of working Hours per week : 48
Wages per hour ! Rs.3.75
Rate per piece ; Rs. 1.50 =
Normal Time per piece | 20 minutes  Twg <
Normal Output per week } 120 pieces '
Actual Output for the week 150 pieces A& G
Differential Piece rate : 80% of piece rate when output is below
standard. ‘ SPGB

24

standard and 120% when above
B] Daily wage rate guaranteed for a workeris Rs, 1:80and he sfaﬁda}d"_qﬁ,tput1ﬁx‘§d for a-week'is
100 articles, representing 100% efficiency. The guaranteed wage rate is paid without bonus, to
those workers who show efficiency upto 70% Q’f‘t’hes:s‘tah_dé_‘l.‘gi:Béybﬂd-thilé-,_bdmiis;i:s payable on a
graded scale in the fixed ratio to the increased output as urider i - A e S
Efficiency: 90% Bonus Payable : 10% = - RS PPN

Efficiency: 100%  Bonus payables20%" 50 <70 5 R R IR
Further increased of 1% in the bonus is given for every | % increase in the efficiency.
Calculate the total earnings of 4 workers who have worked for a. week and theit output was as
under : B R RS @ Tl B PO S &

No. 1:50articles  No. ) £90 articles < Na 3 100 articles "No.:4:120 articles week is
considered to be of G:ayy Buly < L RO @ AT NSNS 07)

Q-3 A] Expllait‘l":thie;ffa'é,t;)f‘_:‘l,_é!f;‘f'_c.écting"_’wéges S Do (08)
B] Caiculatethe t_i:,)‘t.ﬁ!-\'féfl}.ll‘:l.l_Cljation of three wqulérs_ A, B, C from the following data: (07)

. Sfié,ndard:-ﬁrpauéﬁlén:per'month 'per"\.'w.rOrk'er £ 1,000 units
-Actual production during the month : A 850 units, B : 750 units » C 950 units
‘:'Piéce’iﬁfﬁrk"'ﬁgte is. 10 paise per unit of production

_Additional produiction Bonus is RS, 10 for each percentage of actual production exceeding

* . 80% of standard production e
58 Déamess'éllo_w;mc‘e_:_fixéAd @ Rs. 50 p.m.

B N

Q =4 Krunal Ltd. has four production departments A, B, Cand D and two service department X and Y.
* The particulars of expenses of the respective departments are as follows: (15)
S AR ."'Wodtjctidn‘dﬁepartménts Service departments

SED ST ¢ D | X Y

5 Rs.5000 | Rs:4,500 | Rs.4,000 | Rs.3,500 | Rs.2,750 Rs.1,900

 The expenses of Sefvice Departments are charges out on a percentage basis given below:

S T AT Ry Particulars Production Dept. Service Department
P ral A B [c b [x Y

-Service Dept. X | 10% | 30% 20% | 20% | - 20%

- [:Service Dept. ¥ [ 30% | 20% | 30% | 10% [ 10% T~ e
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=

-

Prepare Statement sh

owing distribution of ov
Simultaneous Equati

on Method

Q ~4 From the following inform
in department M, N and O 7

EM
Service department 3

L]
¥ oA

ongw:thﬂthéi;glp of Repeated Distribution

(08)

(07) '

SQWtﬁfé\ShﬁtﬁNﬁt?ﬁ‘ Any 3)
LN Ao \\f A

Ak g o g
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L )

Q1 A)
1)
2)
3)
4)

9] EBITI=) . cda'n

6) Value is the end val e%ﬁﬁu.
7) WACC stands for b 'ffo*
8) The abbreviation “IPO"- stahdéfgf- 8
9) Financing decision mv];gtye the mmgt%pﬁ[o@'@ e 1
10) ____ isthe mabiﬁty Qf a&ommn? taw'(?qr

B)

Fia Momegestal

R.AF. Sew -

period’s are

~ T
v

s
S

)

= EBT

{

Compounding

Share

Présenéyalue

Bundle of Shares

Investment Decision

D $ \mv}dmg» ,«21 ‘ Liabilities + Equity
S 3 cama;a Vgﬂn& Affected by Tax
vol Fgﬂxfe alu > v Discounting

Non cash Item

WAtc .

Objective of Financial Management

Lowest

2A16B7BF2EFCEAFF7D111F48CB41580D

(07)



Q.2 A) Mr. Akshay deposits Rs.200000 annually in a bank for 5 years. Th& dEposmeams 10% j.uw:r year‘ What ‘r

B)

Q.2 A)

B)

Q.3

o V‘arlable\;‘fég

* -"Equliy\sharghaﬁitﬂ o? Rs.&,bg

\;

the future value at the end of 5 years? A 2

Mr. Mahi is planning to purchase a machine at a discount rate o oF 10% I‘hfsmmd am ~chong cash
flow. Find out the present value of the cash flows. I; the costé’hfh_“.
option. v,

Year Cash flow (Rs.)
1 65000

2 80000
3 150000
4 80000

PV factors of Rs 1
Year
10%

OR

Seven equal annual pq»)nﬁ

per year. What is the ﬁll.l‘,ré
A bank Promises to ﬂ!vs \

\gia“sd

valu

T s e E ; &
Calculate Gheit X ahct}lmanﬁ‘lgl Teve(fagé under
respective Mly fr’dng? éff\‘s\ﬁtggm elatir

By > : Y \ ?,‘-
Actual Prqdus%iqmﬂdfsales 4&?%61’ mstalle@:abﬂat\c\
Sejhhﬁ Pprice pir Rs.40. LTl ‘

Plan B
4,00,000
1 3,00,000 4,00,000

Eank l.oan at ﬁ%

OR

2A16B7BF2EFCEAFF7D111F48CB41580D
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‘fin

Q3

3

s Q4
u
L
Y.
Q5 A)

i B)

A)

From the following particulars, prepare income statement of A Lgd\ S__‘ ,

A Ltd. B Ltd
Operating leverage 3
Financial leverage 2
Interest charges per annum 12 Lakhs
Tax rate 40%
Variable cost as % of sales 60%

1. no floatatron cost
2. if the issue is at par with 10% ﬂoataﬂt)n Gcs;\:

Risk Ltd. Plans to issue 8000 new: Equity shar”'es o? Rs 100 eé“élf\;g par The floatatlon ¢ost is expecterl to be (07)
5% of the share price. The com_pany pagsdiwderlﬂ of R RSJ.S Bﬂr share and growth in dividend is expected
to be 5%. Compute the cost of equity. share if the m‘a\tkgt jarice of eqmty sh‘are |s Rs.220.

10% Debentures {R§ 100 Per dﬂbenturBS) = Rs 10,00,9&_
8% Preference Shar‘és(ﬂs 100 Per Shaf’e) Rs S, 00,000
Eqmty Shares(Rs 10 Per Share) >R, 20 00 OQB v

Explam the advaljtagd:s of Retgirfed eérmngs. 3 ;‘."'”' « fl ? (08)
Explain the mpmtanceoffnanclai ménagement (07)
SOR DS >R

Wnte short nc‘:tes On any three. & k : (15)

1 De Bentures

4 Finanmal dec:s:cms b
5 Fmanclal Leverage\ &

2A16B7BF2EFCEAFF7D111F48CB41580D
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Duration: 2 1/2 hours ,
NOTE: i All questions are compulsory

QI a.  Match the Column: (Any 8)
1) Organic Objective
2) Political Environment
3) Demographic Environment
4) Generate Employment
5) SEBI
6) Diversification

7) Investment in Micro Man

e
4 m' \. ’
" , \Q\_ g Lo e, Bl
‘\\ Ay e b g Y .
b.  State whether the\“fol,loylggs\tatecnien smﬁ;g{ « se (4 yj{Z} 7
ray Y \\‘\ 3 g \; ='¢“"J,::;"'\(.“'I-‘-\-j-"\'} b b :‘\1"\‘\‘;.'\‘:\. & ' . .
1) Corporate Cﬁitﬁtgasc 3539*13& fﬁg ie‘t;pnt?.blaﬂkégﬁa%mgloyees in the organisation.
o’ NSRS s “oi‘f-‘:-”?','”l?'ff,‘*;? '
2) PE?TLEAnaIy‘s@s“p C ?g%g;ogeoﬁﬁgsﬁ - r;,é%gﬁt- ' t~‘up of the company.
3) Dlstrlot) @ruh\x b\lﬁ szégmplqthRtho ‘rupops i‘"wenty_ akhs.
4) Ecolog‘lcjﬁldegraﬂaﬁon 1§”th" ’ésﬁlt‘o\fhﬁﬁ}ann@ mdustrlahzatmn
Q2 - a mpqrtance of business objectives. 8
; “*.‘ ") \‘
: iegal environment in detail, 7
OR
" Page 1 0f 2
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What is business ethics? Disguss its main features.

a

Q2

piment.

b.

a

Q3

Explain the advantages of good corporate

Q3

b.

4

State and explain the features of so

a

Q4

\’a!
e

13

b.

a

Q4

b.

Q5

L

Nat
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RAF Sew,

; [Time: 2— Hours]

5 N.B: 1. All Questions are compulsory.
2. Figures to right indicate full marks. .
3. Draw diagrams wherever necessary

L1 a) State whether the following statements are True or FifSe : {Anv Eight) ;
1) Microeconomics deals with the analysis of natlonal”ﬁeomé
2) Extension and contraction can be shown on the’ Same déman, urv
3} Regression method forecasts demand accurately -
4] Cross elasticity of demand for substitutes la,posmve Jasdin : :
5) Atechnically efficient- production functlm'i mqn;afes absénc‘e Bf wastage of resources '_ :
6) External economies may occur due to gw;.%Lnn@’f labour, 2 : e
7) Demand curve of a monopohst is slong qﬁ;vard f?gm Ieft to nghh

8) :

9)

—

-

b) Match the following (Anyfs‘égéiﬁ_f 5§ : (07)

a) Shut down pmnt
. ELSuB,s_f_tutes,. 3
1:¢).External ecdnomies
_‘.di—,ﬁ‘]gfh_fé\m'aticaily express functions

, 1) Equations s -
l 2) Negative lncqmg‘eﬁe&

. 3) Demand forécasﬂng N
4) Positive cross elastimty @f deman

5) Iso-cost line >« | ) Prof. Paul Sweezy
| 6) Locahé:a.'tlon ecano‘?-rues &g 2 I'f) Inferior goods
{ N IWVEETH ' P Sy o ~ 7 < }-g) Determined by govt
8) klnked den‘Iarrd chrve Pty m,h)@urvey method |
‘ 9) AdmznisteQe&?Prlttﬂ& 1) Cost incurred on additional unit
; 10) ‘MargmaT cost prusing S j) Budget line

k) Hall and Hitch
|} Complementary

(08)

(07)

-4
¢

4

-

]

S

v

oy
y

P O3 AD55F62224318ABD441CFBD7672753BB



Q.P. Code 00724 S

¢) The demand function for commodity wheat is given by Qgy= 100-5. Thmdm%"vm ;
in below table. - :

Price of wheat (Rs.) Quantity deman;(h;g‘l“_lh_l _ |
2 o :;-"'\ < i
4 oI TS
6 e Jos e
8 s [ 2

Answer the following questions:-

1) Calculate quantity of demand for wheat at gwen rices.. e {03
2) With the help of above demand Schedule drawthé demandtm -~ (02
3) Calculate price elasticity of demand when:‘Q rice changes (03

N,
3
Q.3 a)
b) (07,
c) (08
d) What is Break eve;l bmr:t‘zfxp!g q Afthébb néss\a;ppl:catnon cf Break even analysis o7
O RN COL N 7
Q.4 a) Explain Iongfun equ?ljbr:u:n of; i ' (08)
b) ct comy : o
c) Whatis pg_;fec@tompemton S wﬁat ar ns" feé..furles? (
d) What is pnce leh;le;ﬁnb: E;blalﬁ the ‘types af pricé leadership. (:7@
Q.5 a) "_Def‘ ne pnce dlsqﬁi;!i;;rﬁn ..'What are the varlous forms of price discrimination? {08}
b) What is muihprdaqcsmncmg? How |§ “-: d;me? (DD
QS ;Wme short Notes: my Three} o 15

1) - Production Possibfﬁty eurve
2) Factors affecting. dEMang
. 3) Promotional elasticity ¢ Q?demand
4) Types of Praductlon fﬁm:tlon
5) f‘Cartel formatnon Lot

‘-

s Ve N

ADS5F62224318ABD441CFBD7672753BB



: Indian society is
| : a) a)Tribal b)

w:a 1“?‘

The traditlonal"

"',,e\n\f?ség\és :thé goal.of a welfare state.
}Nﬁetu’}‘ h)Suﬁ‘lalist

Page 1 of 5
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B) State whether the folh:wing statements are true or fa!se~
i) The founder of Sikhisin is Guru Govind Singh. 5~ 3
if) Eve teasing is a social violence against womgrl\‘?
iii) In India, the states are formed mostly ﬁhhﬁh% ba’ i
iv)  Glaucoma can be detected during pregpancy; T
v) Communalism is opposed to secular!sm'“ ; -
vi)  Regionalism can cause inter — stat@’tﬁhsmh%nﬁ.cﬁqﬂ'gh ation. &
vi)  The Fundamental Duties in Indian gﬁnwtu@bn‘aré‘ i %ﬂéiqbl@l?
vili)  The Indian constitution is the»shbfté‘st ngt{tm onsti gﬂ\oﬁ‘bft é’

i) The existence of political paftlgsls nétgﬁwéésef ﬁa\lﬁeﬁuﬂf Lo . bd}
R) 5ok gsh:ggle ”c‘:ltizen‘s ip'\ R

Q.2 Explam the reglonal vanatlon in |ndla~
‘m" '\Qﬁ

Q.3
';1 ..\ \‘{' ’ y

What is Regionahsm? Wh&t@re

Q4

g
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3.G. :
RAFE. 6wy

(Time: 2% Hours)

Please aheck that you have the Correct Ques,t
N.B.: All questions are compulsd A
Q.1. (A) Match the Columns (Any Eight);

1

TOF Communication

2. Proxemics

: S “::‘ \\
A. FacuaL;E)gﬁrésg FJ’S’ DA
oo .\z _‘H Y

3. Kinesics .
4. Physical Barrier

General Agreement

Homonyms

5

6

7. Salutation
8. Persuasion
9

Posters

'a;_,cbmpulsory part of a Business Letter.,

P.T.0,

Page 1 of 2
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1. (A) List the rules for effective Listening.

Il. (A) List and explain the advantages dis
Grapevine Communication.

(B) Explain the term Business Et
Advertising.

IV. (A) Draft a Letter of Apphca,tlon:

Clerk with Proconnegt I’\todu"
Full Block format, <.

b
e
4\\'
(‘
5

(B) Ms. Mehvish Skah' has been
~ Synergy Prodt:qtrﬁ:’?, vt Ltd:; B

necapance el s e
Pos AL s (Y

K\“x i
zﬁt,btm\tant with (05)

K

s AN ’
_ld\m Mtée for the post of Senior (10) /
waér Parei, ,Mumbal Use the Complete
R, r‘ r ‘v‘ o
as countant with (05)
‘heﬁlaét Seven years and would now like
ter career opportunity. Draft a Letter of
Sémi Block layout.
1
- (15) L
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